ROSE Tables Challenge (A)

(x 4 & Division)
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oX4=

3lots of 4 =

Double 4 =

Is 48 divisible by 4?

24 +6 =

What is the product of 2 and 10?
4x9=

32+4=

Divide 28 by 7 =

16 divided into 4 =

4x8=

4 multiplied by 2 =

11x4=

1times 4=

What is the product of 0 and 4?
4 divided by 1 =

Share 44 equally by 4=

48 - 4 =

Write two factors of 40
36+4=

7 multiplied by 4 =

O0x4=

Halve eight

7x4=

Share 36 between 9 =

16 +4 =

8 groups of 4 =

4x10=

36+4=

What is the quotient when 12 is

divided by 3?




